1.)  Addition of water to aldehydes or ketones yields                                        or  
                                        .
      2.)   Addition of one mole of alcohol to an aldehyde or ketone yields                               while  

             addition of two moles of alcohol yields                                   .

      3.)  Which alcohol would you use if you wanted to make an acetal as a protecting group?  

      4.)  What reagents should be used to remove an acetal protecting group?

      5.)  Addition of primary amines to aldehydes or ketones yields                          or

                                                 .  This reaction is pH sensitive.  The target pH for this reaction 
          is                     .

      6.)  Addition of secondary amines to aldehydes or ketones yields                                             .

      7.)  Addition of hydroxylamine to an aldehyde or ketone yields                                              .

      8.)  Addition of phenylhydrazine to an aldehyde or ketone yields                                            .

      9.)  Addition of 2,4-dinitrophenylhydrazine to an aldehyde or ketone 
yields                                                                                           .

      10.)  Addition of a semicarbazide to an aldehyde or ketone yields                                            . 

      11.)  Explain why only one NH2 group of a semicarbazide reacts with an aldehyde or ketone.

